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a . ) Ypotenuse ¢, 2. The - : g - -

pythagorean Theorem states that 2. The value of the function f(x)=3x—7 at 5 is

. infre
Concept= «

1 Two acute ar gles whose sum is a right

angle are calle
£ called 8. True or False: 1 + tan’ § = csc

4, The sine and = functions are cofunctions, 9. Tr . ) S
o t - dIrue or False: If 6 is an acute angle and sec 6 3, then
g 1anzo = Ot
¢. For any angle €. sin“ # + cos” @ COs
False: tan 6 sin 0
7 True or ralsez lan g = T .
' cos B 10, True or False: tan ol
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In Problems 11-20, find the value of the six trigonor

ometric functions of the angle 8 in ea h figur
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In Problems 21-24, use identities to find the exact value of each of the four remaining triconometric functions of the acute an
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gie 0.,
1 /3 . V3
sind =, cosh = AL 22, sin @ = 5 Cos ]
2 5 . 1 2v2
Bsing = -, cosf = Vo 24. sinf = 3 cosf = —
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" Problems 25-36, use the definition or identitles to find the exact value of each of the remaining five trigonometric functions of
R acute (mg[(- f.

— 1 F=
Sinf = \’_2 26. cos B = ﬂ 27. cos 8 = 5 28. sin @ 2
2 2
B tang - | - 31 sech =3 32 csch =5
3 30. cotd = 2 :
Dang o 5 35 =2 36. cot® = 2
V2 34.sec0-‘=3 . CSC . CO 2
Inp
;"“hlvm.\ 37-54, use Fundamenta! Identities and/or the Complementary Angle Theorem 1o find the exact value of eacl ex-
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L] . Do not use a caleulator.
Ml g cos? 20° 38, sec? 28° — tan? 28° \ 39. sin 80° csc 80° 40, tan 10° cot 10
4 . o
L tan 500 _ 5in 50° cos 25° . 43. sin 38° — cos 52° 44. tan 12° — cot 78°

42, cot 25° — oin 25°

cos 5():
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cos 40
40, -
sin 50

cos 10°
" sin 80"

cos 70 . sin 50
49, tan 20 50. cot 40

cos 20° sin 40

53. cos 35° sin 55° + cos 55° sin 35

55. Given sin 30 ~, use trigonometric identiies o find

the exact value of

(a) cos 6l (b) cos® 3

] '
(c) csc (d) sec—
5 3

i Vi . .. e .
56, Given sin 60 = use trigonometric identities to find
the exact value of
(a) cos 30 (b) cos* 60
T T
(d) csc "
6 3

(C) sec
Given tan # = 4, use trigonometric identities to find the
exact value of
(a) sec” @

(c) cn[( - H)
2

/

(b) cot#

(d) csc?o

58. Given sec 6
exact value of
(a) cosf
(c) cse(90° - @)

3, use trigonometric identities to find the

(b) tan’ @
(d) sin’@

59. Given csc @ = 4, use trigonometric identities to find the
exact value of
(a) sin @
(¢} sec(90° — )

(b) cot’s
(d) sec?d

60. Given cot § = 2, use trigonometric identities to find the
exact value of
(a) tan @ (b) csc?a

(c) lan(-;— - ﬂ) (d) sec?g

61. Given the approximation sin 38° ~ .62, use trigono-
metric identities to find the approximate value of

(a) cos 38° (b) tan 38°
(c) cot38° (d) sec3ge
(e} esc38° (f) sin52°
(g) cos 52° (h) tan 52°

62. Given the approximation cos 2]°
metric identities to find the approxi
(a) sin21°
(c) coL21°
(e} csc21°
(g) cos 69¢

=~ 0.93, use trigono-
mate value of

(b) tan21°

(d) sec21°

(f) sin 69°

(h) tan 69°

63. If sin 6 = 0.3, find Lhe exact value of sin 0 +cos( S ._9)
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. 52, cot 25°- ¢s
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64. If tan 6 = 4, find the exact value of “r'““‘lanI'T '

6 that satisfies the equy
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&8. Find an acutec ang
sin cos( 20 )
an acute angl that satisfies the equat

66. Find

tan @ = cot(f + 4:
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7. Calculating the Time of a Trip  From a parking lot 1y
want to walk to a house on the ocean. The house is oz
ed 1500 feet down a paved path that parallels the bead
which is 500 feet wide. Along the path you can walk 3

feet per minute, but in the sand on the beach vou e

only walk 100 feet per minute. See the illustration.

Ocean %

(@) Calculate the time 7 if you walk 1500 feet alon
b pE:Vcd Path and then 500 feet in the sand to the "
(b) Calculate the time T if you walk in the sand 41
toward the ocean for 500 feet and then turn lef15>
(c) galk along 1h_€ beach for 1500 feet to the hous¢ B
Xpress the time T 1o get from the parking [0 0
.beachhouse as a function of the angle 8 sho®? -
illustration,
(d) Calcglale the time 7 if you walk directly fo® i
Parking lot to the house,
[Hint: tan ¢ 500/1500) b
(e) Calculage the time 7 if you walk 1000 fect k9™ ’
Paved path and then walk directly to the o

=1y N
) Graph T = T(8). For what angle 8 is T et
15 X for this an =

= gle? What is the minimum G0¢°

v ( ; gt

g) tiixpl.am why tang = 1 gives the smallest ¥
atis possible, 3

oy
er around a Corner Two hall*™,
L the other of width 4 feet, meet 827
tlustration,

(a) E
ngth £ of the line segmenl sho'

ey

XPress the |e
Unction or




